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= N H
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Ol A 2 K| 2 T}
o=x=E
o MYOHN X

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
405 XHAHFIEHI 600 0 600
- 300
& 150
Al 150
01 XAt 2 E F S| 600 0 600
OLoldXelAMY F& HS 7 600
= 300
= 150
Al 150
LolFgeEs AN 148,160 132,000 16, 160
= 37,040
Al 111,120
301 et A= 8,160 12,000 A 3,840
= 2,040
Al 6,120
01 Al E&E AN 2523 8,160 12,000 N 3,840
ORI AN 2 N
80,000 * 17 * 68 8,160
= 2,040
Al 6,120
307 2I2t0| & 140,000 120,000 20,000
o=} 35,000
Al 105,000
10 MM ESEXEX 140,000 120,000 20,000
OokoldXiel&sE NJAdH 24 140,000
& 35,000
Al 105,000
LOISESE XD XNHAS 14,250 15,000 AT750
= 4,275
Al 9,975
307 2Iz2to| A 14,250 15,000 AT750
= 4,275
Al 9,975
01 sd =l 14,250 15,000 AT750
Ookoletsegx) A4 150,0008 * 959 14,250
= 4,275
Al 9,975
SHLQORZEHE ALY 100,580 110,230 A9,650
& 50,290
Al 50,290
307 giztol A 100,580 110,230 AN 9,650
& 50,290
Al 50,290
10 Al SR EX 100,580 110,230 A9,650
OEAHL0 OFRZ2E e 100,580
== 50,290




2N

X{ XH -
S =

SN FH-SA(EN) - MBAY - BES

Off &t 24

=
i

2

=

50,290

S
HT
fol
He
Ol
>
o
_l"—__l
]

= M H

924,000
99,949
92,400

731,651

924,000

307 21201 A

= M H

924,000
99,949
92,400

731,651

924,000

= H

= H [

924,000

144,000

14,400
129,600

780,000
99,949
78,000

602,051

924,000

= HmnH

30,562
15,281
7,640
7,641

30,562

307 glzZtol &

Z N H

15,562
7,781
3,890
3,891

15,562

O
Jn
N~
H
o
010
il
e
>
in
H
o
>
Q
0]
02
[==

= M W

16,562
15,562

7,781
3,890
3,891

16,562

405 At&tE S HI

= M W

15,000
7,500
3,750
3,750

15,000

ol S2¢d SE0IAMY AIAE 325

300,000& * 509

= MW

15,000

15,000
7,500
3,750
3,750

15,000

MEIAAH HMEH 2=

= W

876,182
368, 159
41,719
466,304

987,342

A111,160

o
02
J

X X

oy

876,182

368, 159
41,719

987,342

A111,160




2N
COMHIASH HAH R =

el

X ZH
S =

ol ME XA

sly=x X

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 466,304
282X 363, 187 457,628 N94 441
= 290,549
& 36,319
Al 36,319
301 et A= 363, 187 457,628 N94 441
= 290,549
& 36,319
Al 36,319
01 Al B & A 462 363, 187 457,628 N94 441
O2=2=X X 363, 187
=2 290,549
== 36,319
Al 36,319
ANBIAHAH K& 52,500 50,501 1,999
307 212t0| & 52,500 50,501 1,999
10 MM ESXEX 52,500 50,501 1,999
O0ls=2EsSXHE 29 | 52,500
— ME2ES AP Q1 21H| 2,129,680 x 12&€ 25,557
-8 olAHY| 1,050,000& * 12& 12,600
- ME2tS A & 2FA A4 BEE€ =2 3,575
~HYASAN L SHY EHNNYS 5,043
-Xg SAH L 23 2| 5,725
IME MAFRS 138,000 138,000 0
301 LBt A= 138,000 138,000 0
01 Al E & A 462 138,000 138,000 0
O S0S MAHF=Hl K& 500,000 * 276AICH 138,000
K107 At 2el 16,842 28,080 AN 11,238
= 8,421
Al 8,421
301 et A= 16,842 28,080 AN 11,238
= 8,421
Al 8,421
01 Al B & X 26 2 8,432 16,848 A8,416
O EXNAMHIA AHHI(MESHl Esh) 8,432
= 4,216
Al 4,216
09 SHAIAHI E A2 8,410 11,232 N2,822
O MAZ2(HHEIOIM &) 3o&A =&
360,000& » 12€ 4,320
= 2,160
Al 2,160
(@anE=3=x=1.] 300,000 * 5H 1,500
= 750
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X ZH
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el

ol ME XA
CABIAGEH MA 2E
=X XA

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 750
O JIet24gt| 2,590
= 1,295
Al 1,295
o0 29 111,570 63,390 48,180
307 21201 A 66,570 63,390 3,180
10 AFRISXIE X 66,570 63,390 3,180
O ZEO2 29dl XN& 66,570
- QIAH] 28,410
- 242 gz 680,000& = 123 8,160
- Y 2g8(303 S) 30,000
401 Al HIZ 2018 45,000 0 45,000
01 A& HI 45,000 0 45,000
O FCE0H2 0ld AlI8E &Xbl 45,000
S A2l AF AT A 138,378 191,938 A 53,560
= 69,189
Al 69,189
101 @124l 138,378 191,938 A 53,560
= 69,189
Al 69,189
04 JIZHHZ2Z2XNSE+ 138,378 191,938 A 53,560
OSEAtdI 2t el Ab el 24| 138,378
= 69,189
Al 69,189
NG =XNEdN 28 N3 55,705 57,805 A 2,100
< 5,400
Al 50,305
307 glz2tol & 55,705 57,805 22,100
< 5,400
Al 50,305
10 AtSI =S X2 X 55,705 57,805 A2,100
OXZ At =XEAH 22 X 55,705
< 5,400
Al 50,305
ZoHe =EXNEA 25,807,550 20,786,267 5,021,283
= 10,749,522
= 522,445
< 5,015,034
Al 9,520,549
ZOoHe =EXNS2 9,316,768 6,438,024 2,878,744
= 4,629,012
< 1,003,041
Al 3,684,715
ZoHe =2XS2 1,859,276 2,320,056 A 460,780




AN FUHEX S D
Hu: ool 2N
Sl FOHY =SXBA (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
101 124 dl 17,596 17,596 0
4 D12t Z2XREES 17,596 17,596 0
OZMA=ER FREX QI 2HI 17,596
-JE= 1,028,000 » 1H » 9& 9,252
G E=IPIR= e =)
1,028,000& » 1H * 33 3,084
PN =R = 49,3013 = 1€ = 10 494
B ELES
9,244 * 10AI2+ » 18 » 9F 832
- g &S0t
1,028,000& * 0.6 * 1Y * 23] 1,234
—wESE x| 130,000& = 1& = 93 1,170
-JtEE 40,0008 * 1H * 9F 360
- =AM 130,000& = 1H = 93 1,170
201 £B-2dH| 28,680 37,460 A 8,780
01 At 22l 28,680 30,460 A 1,780
O =XAZ 22 ME
1,000& = 2,50004 2,500
OXOHI RS AEIH ME
1,000& * 4,00004 4,000
OB HESSY 24
1,000,000& * 300 A 3,000
O3gEMAME B2
16,000& = 170¥ » 42| 10,880
OFMHAH HAXH X Xz
500,000& = 4CH 2,000
OZMoEsSXNENE 2ZA3 3o+ 6,300
-43NAYARAVE BHaY
70,000& = 9H =« 63l 3,780
—Ol MM HALY
70,0003 * 9H =« 43| 2,520
301 et a = 3,000 5,000 A 2,000
01 MEIEZE+6l= 2,000 4,000 A2,000
OSEsHM dsEHM0 A23H X
200,000& = 109 2,000
09 HALAHIE& S 1,000 1,000 0
OBONQUMTAILAS U HAEAH DA
10,000& * 100 1,000
307 glz2tol & 1,810,000 2,260,000 A 450,000
04 QIZtHAIE X = 10,000 10,000 0
OslY 21C ZOoHe g &its |3E 10,000
05 RIZt2lEt = 1,800,000 2,250,000 450,000
OSSO 82X MUlA FIHXA 1,800,000
oo EsXH 6,566,400 3,167,353 3,399,047




SH: FOIMEXAD
M HOe =2XNE5E
ool Zojol =XNSA CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 4,596,480
< 656,640
Al 1,313,280
307 21201 A 6,566,400 3,167,353 3,399,047
= 4,596,480
< 656,640
Al 1,313,280
05 RIZt2IEt = 6,566,400 3,167,353 3,399,047
OHM X3 A 6,566,400
= 4,596,480
< 656,640
Al 1,313,280
SSEMHA R0 XA 792,000 823,490 A 31,490
< 316,800
Al 475,200
307 gl2tol& 792,000 823,490 A 31,490
< 316,800
Al 475,200
05 BIZHRIE 3 792,000 823,490 A 31,490
O=s3&Me &0 =<XA 792,000
< 316,800
Al 475,200
ool XX 38,502 60,007 A 21,505
< 19,251
Al 19,251
301 L2 A= 13,502 17,502 A 4,000
< 6,751
Al 6,751
01 MEIBZE 06z 13,502 17,502 A 4,000
OFofe EXJ1+ & BHoLH X2 3,102
< 1,551
Al 1,551
OMZZHe SHEAY XA 6,000
< 3,000
Al 3,000
OS3HLFMY 28T FHSHI
600,000& » 49 2,400
< 1,200
Al 1,200
OF2AZMe Olsgd datea XNE 2,000
< 1,000
Al 1,000
307 ©I2+0I & 25,000 42,505 A1T7,505
< 12,500
Al 12,500
10 AFRISXIE X 25,000 42,505 A 17,505
OFoHerd gel st 24 20,000
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SN FUMEXED
Hu: ool 2N
Sl FOHY =SXBA (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OZESHHEEWMC =4HH K& 11,000
= 7,700
= 1,650
Al 1,650
OIS XAIE &5 700,000 48,140 651,860
ZOHQ NEHE HE 700,000 0 700,000
401 Al HI L £ 0HHI 700,000 0 700,000
01 Al& H| 700,000 0 700,000
QXA SAEHH(2X2 22) A= ZAHH 700,000
SO =XAIE 22 6,787,990 6,319,606 468,384
= 113,400
= 516,445
= 2,915,884
Al 3,242,261
oI X & 31,000 31,000 0]
307 212t0| & 31,000 31,000 0
10 MM S X EX 31,000 31,000 0
OHFOMeIe & & HOoe 2XNSE el 22,000
OXMZO0HIo & SHAF 3,000
OAZZOHRl B X029 Y A 3,000
Os0t&EMe =33 &5 K& 3,000
ZOHU=2XAIE K& 2,330,016 2,163,052 166,964
=2 417,955
= 253,300
Al 1,658,761
306 52 1,355,000 0 1,355,000
= 320,657
& 51,000
Al 983,343
01 s 32 1,355,000 0 1,355,000
OZHeIEX 2 29 N 1,355,000
= 320,657
= 51,000
Al 983,343
307 2Iz2to| & 951,016 846,474 104,542
= 97,298
o 190,300
Al 663,418
10 Ml S XIEX 951,016 846,474 104,542
O s =EXN2 29 & 59,600
— 2EAF @14 d]| 1,600,000 * 1€ » 12& 19,200
- AR 2Zeldl 21,400
- X Y AIEZ2 A2 19,000
OZHQ AEEHMEH 29H XN& 77,000




0l 2H T 2t
Zojel =NEA
BOHQI= X AL Bl o HE)
SN EE - (SN) - HRAY - BHAS il Hl D = 2t
= 15,346
= 6,800
Al 54,854
OHM =stSsAdEH 2&H XA 116,000
& 11,127
< 6,000
Al 98,873
OFOel =284 2| (2 A) 144,416
= 66,000
Al 78,416
OZML SSMEIE 2HHI(5MHA) 173,000
& 48,000
< 10,000
Al 115,000
OXNEZS XNEXNALEH 2l 86,000
= 22,825
Al 63,175
OXMEHC HoAANLXALEH 29| 45,000
< 13,500
Al 31,500
OSZSHM NSMEXAMEH 2YUI(2H L) 170,000
= 48,000
Al 122,000
OAIZEH F2AESA 24| 80,000
< 40,000
Al 40,000
402 2I2H X201 M 24,000 30,000 A 6,000
< 12,000
Al 12,000
01 DIt =22 24,000 30,000 26,000
OAZEe F2AHESA IHEF2Y 24,000
< 12,000
Al 12,000
ZOHAH=AIAE K& 3,202,186 2,985,966 216,220
< 2,401,640
Al 800,546
307 2Iztol ™ 3,202,186 2,985,966 216,220
< 2,401,640
Al 800,546
10 A2 S REX ,202,186 2,985,966 216,220
Ostorssta 2494l XA 1,302,800
< 977,100
Al 325,700
OEg&d 294l X& 870,415
< 652,812
Al 217,603
O=xecls2d 2498 XA 1,028,971
= 771,728

_20_
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= H AL

650,000
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98,490
32,987
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= M W

162,000
113,400
24,300
24,300

162,000

307 21201 &

= M W

162,000
113,400
24,300
24,300

162,000

10 AFRIS X2 X
0

OFofel Al ga0188 X

270,000& = 50¥ » 122

= Hn

162,000

162,000
113,400
24,300
24,300

162,000

FOHA=SRAIE SAX K&

= M

391,100

195,550
195,550

385,900
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62,400

31,200
31,200

62,400

H
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62,400

62,400

31,200
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FoMEX DL
Zojel =NEA
OIS XIAAE 22 )
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o gﬁ‘&i HRE2
[ 10,950
Al 10,950
O XAIE AKX K& 21,688 21,688 0
& 8,107
Al 13,581
307 2izto| A 21,688 21,688 0
< 8,107
Al 13,581
10 Ml SXREX 21,688 21,688 0
OZHeIEXAIE AN = H 2 AH|
10,0002 + 150 1,500
< 750
Al 750
OZHeEXAIE AN g2ss 2&
10,0002 + 150 1,500
< 750
Al 750
OBOHQASTAL AT EIHRAY]
91,250 = 1509 13,688
& 4,107
Al 9,581
OBOWUNZAIL SIAK HHI
5,000,000& = 1H 5,000
= 2,500
Al 2,500
ZOHQl MAH oA XA 6,965,726 6,226,245 739,481
= 4,731,091
= 723,585
Al 1,511,050
ol =& 727,136 688,203 38,933
2 508,996
Al 218,140
301 LBt A= 727,136 688,203 38,933
= 508,996
Al 218,140
01 Al E & A 462 727,136 688,203 38,933
OXMEHOII=) X3 727,136
= 508,996
Al 218,140
S (HARAE) 700,406 662,903 37,503
= 490,284
Al 210,122
301 et A= 700,406 662,903 37,503
= 490,284
Al 210,122
01 Al B & X 262 700,406 662,903 37,503
OXHMNLEH(XAA S) 700,406

- 22 -




SN FOIMEXIE D
Hu: ool 2N
Sol: XOjO MY X EERED
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
= 790,264
Al 210,122
SSA0HC A2 X 4,636,981 4,212,060 424,921
= 3,245,887
& 695,547
Al 695,547
301 et A= 4,636,981 4,212,060 424,921
= 3,245,887
& 695,547
Al 695,547
01 Al E & A 462 4,636,981 4,212,060 424,921
OES &M 2K 4,636,981
= 3,245,887
o= 695,547
Al 695,547
SSEMC 2020 & 290,400 288,720 1,680
= 28,038
Al 262,362
301 et A= 290,400 288,720 1,680
= 28,038
Al 262,362
01 M EXEE 252 290,400 288,720 1,680
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